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[image: ]
image1.jpeg
ce HOLONO0I0] /b —

& _x3 nbemooAm ‘1 > x 500 (§
& < 1(9 o
¢ & s mmARﬁmAN ‘I1>xurs(1°6ST
m\<v“,:~. (g .

'0>x81(9 ‘0<x3(g {0 > x 00 (¥
‘0 <xs09(g ‘0>xurs (g ‘0<xus(1°9ST

‘[091—8¢g1] og1oHegRdoH SLUMIdJ

0 = (x 500 + x uts)x 89 (9

‘0=2 - halpmuﬁmm+amﬁmmﬁ
5u?+ mu mum+T+ Iv 312 (¥
b4 ug

‘ L _
‘0 = (L + x) 509 — ﬁam vNEmm (g

0=(+u)ursg + (2 —x) 8022 (g
§0=L+ (X +2) 5008 + (¥ — 1) ;500 (T *£GT
"0 = GZ — X S0 X UIS G + X ;S00GZ + X zUIS6 (G
{0 = X zS00G + X S0 xursg — x uts (¥
{0 = X zS00 ¢ — X SO0 XUISg — X uis (g
‘0 =F — X zS02 + X S0D xuls + x puisg (g

$0 = X zS02TZ + X SO0 X UISQT — X ZUIS (17991

‘0=g—xs500¢g +x pursg (1°G9T

‘0=12 + X z800G — x ;uis ) (¥
‘0 =g — X S02 — X ;809 (g

e =%80( T=xz81(g
<G
mm = X ;800 (g mlxmﬁmﬁ b91
g 8 _
.€ _ 3 ¢2 =—xurs(g
T 1 v
‘I = xg 500 (3 “m = xg urs (1°¢GT
- __x8p®F L __xm(e
g/ g
NWIHRmOoAN u%luxﬁ.mﬁ.wmﬂ

e€

'C0‘g =x 310 (¥ T=x31(¢
3

.nlxmooAN m%uaﬁmﬁ.ﬁmﬁ

‘[2e1—1¢c1] ounongRrdA aiumme g

eg10H98Rd3H IMNIdhNdLEaWOHOIMdL SumuaLdod|
‘¥MHIHaRedA saunoohudiawoHolnd] *12 §

ﬁ AN nm
m@.@A g (g:0(1°0ST" 6

22 505 (g0 (2 x(16vT 60870 (8 '8092°0 (2

‘$689°2 (9 ‘¥2,21°1— (g uwmow.o # ‘9%L1°T (2 $98%°0 (2 19206°0 (1 "8YT

19134910

hm S000J8 4 % mn_oo.:wv ZUIs (¥

A g/~ 81oqe — % Emopmmu mooAm

Qmﬁ u Shoxeg + | mooo.:wu 810 (g
A g/ 81oue + ﬁ%'v Emopmv e (1°0ST

> 8joae AWQ S000.J8 ﬁh|u ursoJge
g/ & ° + & Ie + g )" (8
Qmaoo.:w._. £ sooore + £ Emo.&?

g/ (I

‘{0 81oae + AWQ mooopa+ Amtu Emo.:wG

7 E
4 4

{0 8joae + = $000J8 + z ursoge (¢
{(1-) 8100ae + (1-) 8roae (¥
{(I-) s000aR + T S022JR + () S002JR (g
{(1-) utsoae 4 1 uIsoJde + () uIsoJe (g
‘T 810008 + T 3304 + T S000a€ + T ursoxe (T *gHT





